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NI155UW npnpuiwi

Juquwjipynpymiubtph ququuuyundwui hwdwljupgqbph
phjuthjujut vyuwuwpuwt Jadwpuph hwyyupiwt dGennhlju

Unybh dbpnnhuwyh hwyqupyibpmd  Gbpunjwo G juquuybpuynipynibbtinh
upnpgipyw b dbpgtpijw ququdninbbiph,  ququiwpquygnphg - Ghptiph,
Ltynpuwwopuuihs Juywbbtph (Ghwyt upnpgbpiyu ququidninh giwpnud), yidjuy
ninpiph - (wprynibwpbpuwuit,  gndnibw-ytbgunuypht,  gnimupbpbvuui - jud
otinnigiwl Jupuwjupui) Juqiulbpynipjuit ququuuppuynpnidttiph vywuwpldwb
htp quuwd  «Swynugququpn» thwl pwditiphpuwlub pbybtpnpyud  (wjunthbp
nbytpnipnit) dwhuubtipnp:

Guqiwytpympmbdtph  ququuyuwpdwl  hwdwlupgtiph  phubhiulub
uywuwnuwd yeéwpbtpp (UL) hwpgupyynud Gb htgplyw) pwbwabing

Ud =0 +UC+C+¥,

npyptin’

MO-0 widhowwybu phubhjuuwi vyuuwpiwd hwdwp withpuwdbop ninnuiyh
dwhuubipb b,

WO-0 wyy dSwhuubipl G,

G-0 piytipnipywid swhnyph L,

N-U pbytpnipyub Ynnihg Jdwupynn wybjugywd wpdtiph hwpyb k:

1. Mipnuijh Swhiubp

Mnnuyh dSwhuutipp (MG) hwyjupyynud Gb htigplyw pwbwaliny

N0 = M0q + MTBauymauy) + MOy + MO o uy, 9u) + SO + N0,

npyptin’

M Oq-0 ququuininh () uywuwpyuwb ninnuyjh dSwhuutint L,

M Oquymauy)- ququjupquynphs Yoptinh (44, MA4YY) uyuwuwnpuiwd ninnuyh
dwhuubp b wpwihg pnqupyuub-jupgquptpdwb dwhiubtph,

MOpayu-0  LGyyppuuyuwoypyuihs Juyubbtph (EMY) vyuuwpiwd  nmnuyh
owhuubipt Gb (Whwy uypnpglinpyyuw ququidninh hwdwn),

MO g uy, gu-U Juquwtpuynipjud (wpymbwptpuyuwb, Ynintbw-yabgunuyht,
gniunupppivwutt jud - otinmigdwl Jupuwjupnill) ququuuwppwynpnidtiiph
uguuwnpiwl  mnnuyh  dwpuubpb  Gh:  3mgwbhyp  pupptp B Jupudud
Juqiwytpympjud  npnpphg b hwpquplynud B jnipupwbgmp nnpph
hwdwyuypuupuwb bnpdwgphyny,



SO-U uywuwpyuwb hwdwnp wbthpuwdtiogp pputuynpypuyght dSwhiutint Lo,

NO-U uyyuuwpynn wbabwljuquh wpypuhwgniuph dSwhuubipnt Go:

1.1 Guquinnh uyuwuwpjiwt mpnuijh Swhiubp

Ququuninh  uyuwuwnpliwd nmnnuyh dwhubtipp hwyywupynmd G hbyplyuy
pwiwalny.

MOq = Baueus X (Haueus+ (Suu @ S<) X Uau) + Bauss X (Hauss+ (Suu : Sx) X Uaqy) +
+6au X (o + (Suy : Sx) X Lau),

npytin’

BGaveus-U, BGauss-0 U Gau-U Juquuibtpynipyjut  hwuwdiwyuipuupiwbwpwn
upnpgtipyu pupap b (Gud) dhoht, gwodp dbpdwd U Ytpghypyu ququininbbph
tpjunnipynibbtpt Go (Yu),

Wauers-U, Wauss-0 L Wau-0 hwmiwyupuuhiwbwpwn uipnpgbinpyw pupén e (Quud)
dhohli, gwdp dbpdwd U Ytpgbhyppyw 1 Jd ququuininp uyuwuwpynn wrjuwpnnibph
woluwpuyjuwnpdtipp b unghwpuwljut wywhnynipyjut hhdttwnpuihtt gnpdwnpnih Ynnihg
Jupwpynn ydwpnudotint G,

Uaqu-I L Uqu-I hwdwwuwpuwupiwbwpwp wpnpgbgpiyu b Jtpgbgpyu 1 4d
hwoqupuyhtt ppudwgdh ququuininh uywuwpljywd hwdwp wihpudbtop hnuwiph
Oyniptinh dwhuubpl G,

Suu-il L Suy-0 Jugquiwltpynmpjud hwdiwywpuupwbwpwnp upnpglinpyue
Jbpgtipyw ququuininitiph dhohttwgywd ppudwgdtint ko (W),

S<-0 ympwdwjuuh  tnpduwyh  hwyywpynd  thpundwd  wwydwbwlwb  dhoht
hwpduwnluyht ppuiwghdt £ (133 dd):

I yd upnpgtipyw pwpép b (Qud) dhohtt dtpdwl ququininp uyuwuwplnn
woluwpnnbtiph - wpuwpuwjupép b unghwjuut  wywhnympjut  hhdbwnpuwdhb
gnpowynih Ynnihg Jupwpynn Jdwpnmdttppn (Qayeys) hwyupyymd G htaplguyg
pwiwalny.

Waveus = (Bvaueus X Wyau,

npptin’

(B-Laueus-U 1 Yu wipnpgbipyu pupép (Ghohty) Gpdiwd ququuininp uywuwplynn
wphuunpnnbtiph tnpdwphyuyht puwpwbwyi b,

Wyqu-U uypnpgbnpyju ququuininp uywuwpynn  wpjuupnnh  dhoht
wohuiwppuyupdp b unghwjuud wwywhnynipjud hhdbwnpudihtt gnpdunpnih Ynnuhg
Juypunynn yéwpnuddtipt Gb:

I yd uwpnpgbnpyu gwdnp dbpdwl ququuininp uywuwpynn  wpuunpnnibbph
whuiwppuyupdp b unghwjuud wwywhnynipjui hhdbwnpudihtt gnpdunpnih Ynnuhg
Juypunynn Yydwpnudtttipn (Wayss) hwpgupyynud G htiplywy pwbwaling.



Wauss = (Bvauss X Wuau,

npyptin’

Byauss- 1 i uwpnpgbiopypun gwdp  Spdwl ququininp uyuwuwpynn
wohuwpnn btiph inpdwuphyuwjht pyupwbwyb k,

Wyqu-0  uypnpgtipyn - ququininp . uyuwuwpynn  wpjuupnnh  dhohl
wluwpuywnpdp b unghwpujuwd wywhnynipyjud hhibwnpuihtt gnpdunpnith Ynnihg
Jupwpynn ydwpnudttint Go:

I yu hwpdwpluyhtt ppudwgdh unpnpglinpyyue ququininh uywuwpuwt hwdwn
wihpwdtioy hnudph b Gyniptph dSwhuutinp (Lay) hwpuplynud Go htigplyw pubtwating.

Uqu = él. (LU X 9y),

i=1

npytin’

L£L;-0 1 ju hwpupyuyhtt ppudwgdh uypnpgbiyppbyu ququidninh phubhulub
uyuuwnpiwd hwdwp wbhpwdtiogn hnuwdph b Oymiptph i-pn phuwyh Gnpdunphyuwht
pwliulyl L,

Q-0 phputhjujut vyuuwpuuwb hwdwp wthpwdtion hndph U Oyniptiph i-pn
yhuwyh dhwyynph ghttn E:

I Jd ytpgiplyuw ququininp uyuuwpynn wphuwpnnbph wphuwpuijupap b
unghwjuljwd  wwwhnynmpjut  hhdbwnpuihtt  gnpdwypnith - Ynnihg  Juuypwnpynn
JSawpnuititipnp (Wag) hwpjupyynud Gh htiyplywy pwbwaling.

Way = Fyau X Wy,

npytin’

(B-yau-U 1 YU ybpgtiplyw ququiininp uyuwuwpynn wphuwpnnbtinph tnpdwphywyht
pYuwpwiwyl L,

Wyau-Ut 1 Y Jbpgtpliyu ququinp uwjuuwplnn - wpluwpnnh - dhohl
wluwpuyuwndp b unghwpujuwt wywhnynipyjud hhibwnpuihtt gnpdunpnith Ynnihg
Jupwpynn ydwpnudttint Go:

I yd hwyupyuyhtt ppudwgdh ybpgtippyu ququidninh uyuwuwpyuui hwdwn
wbhpwdtioy hnudph U Gyniptiph dSwhiutipp (Lag) hwpqupymd G0 htigplyw pubwaling.

Uqy = éJ_ (LU X 9y),

=1

npptin’

LU;-0 1 yd hwpdupyuyhtt ppudwgdh ybpgiplyu ququidninh phuthjuub
uyuwuwnuiwd hwdwp wihpwdtiop hnwdph b ymptph j-pnp puwyh onpdugphywyht
pwbwlyl L,



Q-0 pbpubhjuiuwd vyuwuwpiwbd hwdwp withpwdboyp hnwdph b Oyniptiph j-pn
ynhuwyh dhwyynph ghtth E:

1.2 Guquljupquyynphs Yayptph (9%, N3A949) uyuuwpjiwuwit ninpnuih Swhiubp

Ququlunpquynphs Ytgptph (44, MNEYHY) uyuwuwpldwd nmnnujh dwhuutipp
hwoyupyynud G htiplywy pubwaling.

MOquymauyy = LLqauymauyy X (WLquymauunt  Lauymauu)+ L¥:quymauyy X
(Uaquymauuwt Lauymauw)),

npptin’

LLquyymauu)-il L LYquymauy-0 Juqiutpynipjui  hwdwyuwpuupiwbwpwp
punupujht b gyninujub Jujptipnud gipynn @44 (MMYYYG)-otiph puwtwy k,

WLquymauu)-il I UQRquy@mauy-U Juquuytpuynipjut  hwiwywpuwuhiwbwpwp
punuwpuwjhtt b gmmuiub Jwpbpnd  qupiodnn 1 444G (MAYY)- vyuwuwpynn
woluwpnnitiph - wppwpuwjwpaép b unghwjuut  wywhnynipyjul  hhibwnpuwdhb
gnpowynith Ynnuihg Junpupynn yéwpnuittpt i,

Uauumauy)-I hwdwyupuupwbwpwp 1 94949 (MAYY)-h vyuuwpdwd hwdwp
wbhpwdtiom hnwdph b iymptiph dwhuubph Gb:

Lunwpujhtt Juypnud quqpignn 1 445 (MYYY)-0 vyuwuwpynn wpuwpnnbtiph
whuwpuywndp b unghwpujut wywhnynipyjud hhibwnpuihtt gnpdunpnith Ynnihg
Juypunynn Yydwpnudtttipp (WLqyy@auy) hwpgupyynud Gb htgplyw) pwbwalng.

ULquymauy) = [Myauumany) X Qyauumauuy),

npyptin’

(-Lquymayy-Ul punupwihtt Juypnud qupinn 1 44 (MGYY)-0 uyuwuwpynn
wohuwpnn btiph inpduphyuwjht pyupwbwyb k,

Wuauymauy)-0 44 (MAYY)-0 vyquuwpynn wphuwgpnnh dhohtt wphuwypujupén
unghwjuljwd  wwwhnynmpjut  hhdbwnpuihtt  gnpdwypnith - Ynnihg  Juuypwnpynn
JSwpnuititin G

Gniquiubd Juypnud gpognn 1 449 (MAYYY)-0 uvyuuwpynn  wpuwpnnbbph
wluwpuyuwnpdp b unghwpuljuwt wywhnynipyjud hhibwnpuihtt gnpdunpnith Ynnihg
Juypunynn Yydwpnuddtipn (WQquymauyy) hwpdupynud o htiplyw) puwtwaling.

U Rquumauy) = [ Fauumany) X Quauymayu),

npptin’

X auymauy-U gninuijub Juypmd gypinn 1 ¥4 (MAYYY)-0 vyuwuwpynn
wohuwpnnotiph tnpdwphywyhtt pqupwbwyi k:

I 44 (MYYY)-h vywuwpiwd hwdwp wihpwdtopn hnudph W Gymyptiph
dwuutinn (Lauyymauy) hwpgupyynud &b htiyplyw) putiwaling.



K

Vauymauy) = é (LU X Gy),

k=1

npyptin’

LU0 1 QYUY (MGYY)-h phubhjuyud vyuuwpiwd hwdwp wihpudbog
hnuiph b Oymiptiph k-pn phuwyh tnpdwphyuwjhtt pmtwyb b,

Q-0 phubhjuut vyuuwupyiwd hwdwp wthpwdtop hndph U Gynipbph k-pn
ynhuwyh dhwyynph ghtth E:

1.3 Ejiyppuyyuypuyuiths juywith (EMNG) vyyuuwpdwt nmpnuijh Swhiubp

Elayyppuywopuubths quywdh  (EMY)  uywuwpyiwd mnnuyh - dwjuubpp
hwoyunpyynud G htiplywy pubwaling.

MOy = Lrmy X (Wenut+ Leay),

npytin’

Lray-0 quqiuytpynpyjuit ENY-h pubwlb k,

Weny-0 1 ENG-0 uywuwpynn wpjuunpnntiph wpjuupuyupép b unghwjwljub
wywhnynipjub hhdbwnpuiht gnpdwpnih Ynnihg Jugpwpynn yéwpnuittint b,

Urny-0 huwdwyupuuppwiwpwp 1 ENY-h uyguuwpiwd hudwp wihpudton
hnudph U Oynmiptipnh dwjuutip tit:

I ENG-0 uywuwpynn wppuupnnitiph wyhnwgpuwpép b unghwpujub
wywhnynmpjui hhdbwnpudihtt gnpdunpnith Ynnihg Juuypupynn Jyeéwpnuddtipn (Wemy)
hwoyyunpyynud G htiyplywy pubwaling.

Weny = Byeny X Qurmy,

npptin’

ey -U 1 ENG-0 uyquuwpynn wppuwgpnnbtph tnpdwgphyuwyht pupwtwyb k,

Wukmy -0 EMNG-0 uyuwuwnynn wphuwgpnnh dhohtt wphuwpuywnénp b unghwjwub
wywhnynipjub hhibwnpuwiht gnpdwpnih Ynnuihg Jupupynn yéwpnudoph Go:

1 EMNY-h uyuwuwpyiwb hwdiwp wihpuwdbtoy hnudph b Oynptph dSwhiutpp (Leay)
hwpyuwnynud Gb htiplywy pwbwaling.

M

Upay = é (LU, X Gy),

m=1

npyptin’

LU0 1 ENY-h phpubhjuiud vyuuwpiwd hwdwp wibhpudtop hnudph
Oynmptinh m-pn phuwyh tnpdunphywjht pwbwyb b,

Q-0 phubhjujub vywuwpliwd hwdwp wthpwdtiogn hnwdph U Oyniptph m-pn
yhuwyh dhwynph ghtth E:



14. Guqiuijtipygmpjut  (wppymbwpbpujui,  ndmbw-jEhgunuyhi,
qnuupipivwjutt jud  oinmgiwt  Jupuwyuypn) ququuuppuynpmdbabiph
uyuuwpiwi mnnulh dwhutip (M0 we,uy, 9u))

Guquwytpynipjud (wprynibwpbpwlyui, Unuinibw-4tbgunuyht,
gnuupippivwut Jud - obinnmigiwl  jupuwjyuypnil) ququuuppwynpnuibph
uyuwuwnuwd ninnuyh dSwhuutipn (M0 we.uy,9w) hwpdupyynud Gb htyplyw) pwbwalny.

MO g uu,9u) = Luauy, gu) X W uy, gw)+ Lueuy, gu),

npytin’

Luguygu-lt Juquwytipynipnibbbph (wpynibwptipuyub, Ynunibwy-
Jthgunuyht, gyninunpigptivwjut jud otinnigdwd Jupuwyuwgnil) pwbwlb L,

Wuouueu-0  pwd Juquwytpunipmip (wpynibwpbpuyub,  Yndnibwg-
ytbgunuyht, gnmuppbuwut jud  otinnigdwl Jupuwjugpnid)  uywuwnpynn
woluwpnnbtiph - wppwpuwjwpaép b unghwjuut  wwywhnynipjul  hhibwnpuwdhb
gnpownith Ynnuihg Junpupynn Jéwpnuittpt i,

Vwauuow-i 1 Juqiwibpynpjui ququuuppuynpnudttph  vyyuuwpydw
hwdwp wihpwdbiop hnuwiph U Oympbph dSwhiutint tb, npntip hwyywnplynud Go thwuypugh:

1 Juquiwytipynipjub (wpnynmbwptipului, ynuinibwy-ytbgunuyht,
gniunupppivwutt jud - oinmigdwl Jupuwjupnill)  ququuwppwynpnidtitipp
uyuwuwpynn  wohnupnnbph - whuwpuwjupap U unghwpuuit wywhnynipywi
hhdtwnpuwdht gnpduwnpnih Ynnuihg Juypunpynn yéwpnuddttinn W uy,guwy hwpyupyynud G
htiplyw pwbwalny.

o uy, 9wy = Byuauy, sw) X Wuwa,uu, u),
npptin’

B-Luouu,gu) -0 1 Juquuybpynipyjud (wpnynibwpbpuub, Ynintbw-yabgunuyht,
gnuupppivwut jud - oinmgiwl  Jupuwjwynil) ququuuppunpnidtiipp
uywuwnnn wphuwpnnitiph tnpdwphyuwyht pyuwpwbwyi k,

Wyuouuew-0 Juquuytpynpyjud  (wpynibwpbpuub, Yndnibw-yabgunuyht,
gnuupigpivwutt jud - obinnmigiwl  jupuwjyuypnil)  ququuuppuwynpnuibpp
uyuwuwnynn wphiwgpnnh  dhohtt wppuwpuwdupdp b unghwjwuwd  wwywhnynipjwib
hhdtwnpwdht gnpdwynth Ynnuihg Jupupynn Jawpnudbtin to:

1.5 Spwtiuwynpyuyht Swjuutip

Spwiuwynpypuyhtt dwjuutipp  (SO)  hwyqupyymd GO Gogny  puphudwb
huwdwlupgmd pypmojuwd 1 Yd ququininh  uvyuwuwplyiwd hwdwp  wbhpwdton
npwiuynpypuyht dwhiutinhg b vywuwpyynn ququuininh Gpupnipnibhg:

SO = SUU% X G,

npyptin’



SUU%-0 1 i ququininh uyuwuwpyuwb (pputtuynpupuyhtt dSwjuubph G,

Gaq-0 qugquwytpynipjul ququuininh tpupnipyniad k (Yu):

1.6 Upypuwhwgniuy

Upypwhwgmuyph  dwhiup  (NO) hwpqupyynud £ Gobng  Jugquuybpuynipyub
ptiuthjuljut hwdwlupgp uyuuwplnn wpuwpnntiph tnpiwphjuhtl pYwputiuyhg
(nmpuwpwbgniphtt puptiui 1 yndythy), hbplywy pwbwalny.

N0 = ([vau+ Buag + Brauy + Bueny + 01 wauugw) X Na,

npptin’

(Bvau-U, Fuaq-O, BrauymauylU, Bvemy, Buuauuwew-I Juqiwlbpynipjub
pthuthjujut  hwdwupgtipn  uvywuwpynn  wphuupnnbtiph - Gnpdwgphywht
pYwpwbwyibtpb G,

NGQ-0 1 yndyy iy wpgpuhwgnuuyph ghtb E:

2. W) Swjuubip

Wy dwjuutipp (WO) sbwhiwptiuvqud  (squbhiwgptiujwd) dwhuubtipnt th, npnbp
hwoyupyynud G ninnujh dwhuutiph tupiwdp 1 %-h swthny, htiplyw pwbwalny.

Wo =m0 X1 %:

3. Cwhnyp

Guwhnypp hwpwplynid k pwhnyeh hwpgupljiwt puquyh (GR) tjugpiwdp 10%-h
sathny htiplyw) pwbwalng.

G =GR *10%:

CGwhnyph hwyupyiwid pwqu L hwinhuwind phubhjuuwid vyuwuwpldwb
hwdwp pbybpnipjut gnup wyphyotiph wpdtipp: o hwpqupyynud £ htplyguyg
pwiwalny.

CR =00NLU-4U + 04,

npypbin

oonLud-o pththjuywit uvywuwnpynd  hpwjwbwgbtine hwdwp ogqpujup

oquuugnndynn Swbwgwd ng piipwghy wiphyutiph wpdtpl L,
GU-0 ynupujud dwrjwdnipynibb L,
CU-0 pnyuyppyud spowliunnt Juwhwypwih dtdnieynibh k:
4. Nwiplytip
Wy tjugywd wpdtiph huplyp (WEN) hwoquplynud Ehtaplyw) pubwalng
N = (NFOo+W0+8) X 20 %:

Owhnpnipmii. Unippuwowuup pwhwlbhbph b wpuuwapnnbbph pywpwbwlh
dhwynph nplunphyblinn hwpyuplhynid ki phaybpngenibmd hipluynid gnponn
anpluappfbliph hwdwdwyl, huly ynieliph wpdbpbbipn npnpynid ki Suywuwypuih
Nuwbhpwwlbipnipyuwi punupwphbinipyui huwppwpuwpnigeyuit ynnidhg pyjuy ypuwpnid
hpwwwmpuwlyjud «bapnpluwghnie yphnbiljugphg»:



